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Introduction
In this contribution, we discussed some of the remaining issues from the previous meeting [1] and expressed our views. 
[bookmark: OLE_LINK10][bookmark: OLE_LINK20][bookmark: OLE_LINK14][bookmark: OLE_LINK13]Discussion  
The first issue is about the definition of intra-frequency and inter-frequency handover. Due to the fact that the serving cell SSB and target cell SSB can be any combination of CD-SSB and NCD-SSB in RedCap UE, the definition of intra-frequency and inter-frequency handover in the specification is unclear. Therefore, we revised the  definition of intra/inter-frenquency handover that the reference SSB of the serving cell is the SSB configured in the active DL BWP of the serving cell and the reference SSB of the target cell is the SSB configured in the DL firstActiveBWP of the target cell. 

	Issue 1-1-2: Revision of the intra/inter-frequency definition in handover
Agreement: Handover for a RedCap UE is defined as intra-frequency handover if the center frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the center frequency and SCS of the reference SSB of the target cell, where:
· The reference SSB of the serving cell is the SSB configured in the active DL BWP of the serving cell
· The reference SSB of the target cell is the SSB configured in the DL firstActiveBWP of the target cell

RAN4 to further discuss whether and how to update the intra-frequency handover definition when the active DL BWP of serving cell/target cell doesn’t have SSB.
· Option 1: The intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell.
· Other option is not precluded
clarify the definition of intra-frequency and inter-frequency handover in the spec.



The revised definition is more clear, but when there is no SSB in the active DL BWP of the serving/target cell, whether and how to update the definition of frequency switching is a problem that needs to be considered. Option1 is ok for us that we can define the intra-frequency handover by the center frenquency of the active DL BWP of serving cell and the first active DL BWP of target cell.  
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Figure 1. Handover of intra-frequency 
Proposal 1: When the active DL BWP of serving cell or target cell or both doesn’t have SSB, the intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell.
In the last meeting, we also discussed the Intra-frequency cell definition for RRC re-establishment and agreed that it was also necessary to explain the reference SSB for the serving cell and target cell. We identified the reference SSB of the target cell as the CD-SSB of the target cell. The remaining issue to be addressed is the reference SSB of the serving cell. There are currently 3 options to choose from.
	.Issue 1-1-4: Intra-frequency cell definition for RRC re-establishment
Agreement: A neighbour cell for RRC re-establishment procedures for a RedCap UE is defined as an intra-frequency cell if the centre frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the centre frequency and SCS of the reference SSB of the neighbor cell; else it is considered as inter-frequency cell, where:
· The reference SSB of the target cell is the CD-SSB of the target cell. 
· FFS: The reference SSB of the serving cell
· Option  1: SSB configured in the BWP-specific servingCellMO, if configured, else the SSB configured in the servingCellMO
· Option 2: CD-SSB of the serving cell
· Option 3: SSB within the active BWP




Our understanding of these three options is that option 1 is the service cell reference SSB in the existing protocol's definition of inter/intra f measurement (copied below). Option 2 uses CD-SSB, which corresponds to the target cell. As for option 3, it remains consistent with the definition of intra frequency handover in the previous meeting. 

	[TS 38.133, Clause 9.2B.1] A measurement is defined as a SSB based intra-frequency measurement provided the centre frequency of the reference SSB of the serving cell and the centre frequency of the SSB of the neighbour cell are the same, and the subcarrier spacing of the two SSBs are also the same. The reference SSB is the SSB defined in BWP-specific servingCellMO under BWP-DownlinkDedicated of active DL BWP. If the field is absent, the reference SSB is the SSB defined in servingCellMO under ServingCellConfig. 



As we known, the reference SSB of target cell is the CD-SSB of the tagert cell since RRC re-establishment procedures are similar to idle mode procedures. As to serving cell, we suggest to follow the definition of handover which is more flexible. In a word, we perfer option3 that the reference SSB of serving cell is SSB within the active BWP 

Proposal 2: A neighbour cell for RRC re-establishment procedures for a RedCap UE is defined as an intra-frequency cell if the centre frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the centre frequency and SCS of the reference SSB of the neighbor cell; else it is considered as inter-frequency cell, where:
· The reference SSB of the target cell is the CD-SSB of the target cell. 
· The reference SSB of the serving cell is the SSB within the active BWP.
Conclusions
[bookmark: _Hlk23953093]In this contribution, we discussed some of the remaining issues from the previous meeting and expressed our views. Based on the discussion, we have made following proposals:
Proposal 1: When the active DL BWP of serving cell/target cell doesn’t have SSB, the intra-frequency handover is defined if the center frequency of the active DL BWP of serving cell is the same as the center frequency of the first active DL BWP of target cell.
Proposal 2: A neighbour cell for RRC re-establishment procedures for a RedCap UE is defined as an intra-frequency cell if the centre frequency and subcarrier spacing (SCS) of the reference SSB of the serving cell is same as the centre frequency and SCS of the reference SSB of the neighbor cell; else it is considered as inter-frequency cell, where::
· The reference SSB of the target cell is the CD-SSB of the target cell. 
· The reference SSB of the serving cell is the SSB within the active BWP.
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